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UNIT 1
COMPANIES

TASK 1
I. Before watching/listening to the news answer the following questions:

1. Can you look at the title and predict what the news is about?

Vodafone is to merge Indian business with local rival Idea Cellular.
2. Which words helped you to come to such conclusions?

3. What techniques do mobile phone operators usually use to promote their services in a new market?

II. Match the words from the news (1-8) to their definitions (a-h). Think of Russian equivalents for these words.
	1.
	merger
	a.
	the company that sells most of a product or service in a particular market

	2.
	to overtake
	b.
	the process of becoming or of making something stronger or more successful

	3.
	market leader
	c.
	to cause the start of something, especially an argument or fighting

	4.
	entity
	d.
	a situation when two or more companies, organizations, departments, etc. join together

	5.
	consolidation
	e.
	to grow, develop, or progress more quickly than something else

	6.
	to spark (a conflict)
	f.
	to start having a relationship with, or communicating with another person, company, country, or organization

	7.
	to establish
	g.
	someone who has recently arrived in a place or recently become involved in an activity

	8.
	newcomer
	h.
	an organization or a business that has its own separate legal and financial existence


III. Watch/listen to the news and say what information about the following companies is given in the news.
1. Vodafone,

2. Bharti Airtel,

3. Idea Cellular,
4. Reliance Jio Infocomm.
IV. Watch/listen to the news again and say whether the following statements are true or false.

1. Vodafone occupies the third place in the list of world’s largest mobile phone operators.

2. The deal value is more than 20 million euros.

3. Reliance Jio Infocomm has given some special free gifts to its new customers.
V. Now look at the text of the news and insert the words from the box into appropriate gaps.
	Services,   operator,   telecoms,   customer   brutal,   worth,   arrival


Vodafone is to merge Indian business with local rival Idea Cellular.

A huge telecoms merger in India. Britain’s Vodafone is joining with Idea Cellular in a deal 1) _________ the equivalent of 21 billion euros. Together they will become India’s biggest 2) __________ business, overtaking the market leader Bharti Airtel.

Vodafone, which is the world’s second-largest mobile phone 3) ________, will own just over 45 percent of the merged entity.

This is the latest and biggest consolidation in India after the 4)________ last year of a new company which sparked a 5) ________ price war. The newcomer, Reliance Jio Infocomm, has been providing 6) _________ free for months to establish a 7) ________ base.

Euronews

VI. Over to you.

1. Can you name mobile phone operators in your country?

2. Which of them is the market leader?

3. Are you thinking of changing the operator?

4. What are the main reasons for you to keep/change one?
_______________

TASK 2
I. Before watching/listening to the news answer the following questions:

1. Do you know any European airlines which conduct flights to/from Minsk?

2. Do you think that aviation operation is a highly competitive business?

3. What can make employees go on strike? 
II. Match the words from the news (1-9) to their definitions (a-i). Think of Russian equivalents for these words.
	1.
	fuel
	a.
	to try or fight very hard in order to do or get something

	2.
	operating profit
	b.
	substance which is used to provide heat or power

	3.
	to struggle
	c.
	competitor

	4.
	convinced
	d.
	an agreement or arrangement made between people o companies

	5.
	rival
	e.
	strong and powerful

	6.
	overcapacity
	f.
	certain

	7.
	fierce
	g.
	a company that transports goods or people from one place to another

	8.
	carrier
	h.
	a company's profit from its normal business activities, not including any earned from investments or sales of assets, calculated by taking operating expenses away from gross income

	9.
	deal
	i.
	situation in which companies in an industry can make and supply more products than customers buy or are expected to buy


III. Now listen to the news and mark the statement as true or false.

1. Lufthansa has to pay more for its fuel than the previous year.

2. Investors appreciated the agreement Lufthansa and its pilots had reached.
3. Lufthansa doesn’t consider budget airlines as its serious competitors. 

IV. Watch/listen to the news again and fill in the gaps with two words:
Lufthansa says it expects profits to fall only slightly this year despite 1)_______   _________ and its fuel bill rising. That substantially boosted the German airline’s shares as it announced operating profit was down just 2)__________ last year.

Investors also reacted positively to the fact that it had reached a surprise deal with its pilots on pay, pensions and 3)_________  _________, ending the threat of more strikes and cutting the airline’s pilot costs.

The 4) ___________  ___________ member in charge of Human Resources said: “We really struggled hard to find a solution and I am convinced we have found a solution that takes everyone into account. The needs of the customers, security for people to be able to plan, for our pilots, who now really do have future and 5)_________  ___________, which was particularly important. But also for us because we can now firm up our 6)_____________   __________.”

Like its rivals, Lufthansa saw ticket prices come under pressure in Europe last year due to overcapacity and fierce competition from carriers with a lower cost base.

European airlines have been fighting for 7)_________  ________, putting more seats onto the market than there is demand for, which is likely to mean lower profits this year for many of them.
Euronews
V. Answer the following questions on the news:

1. Can you name all groups of people that are mentioned in the news?

2. Was it easy to reach a deal between the air-carrier and its pilots?

3. Does Lufthansa predict a substantial profit growth by the end of the current year?

_______________
TASK 3
I. Before watching/listening to the news answer the following questions:

1. What do you know about Apple Inc.?

2. What/Who is the name of the company associated with?

3. Is non-payment of taxes considered as a minor or a serious crime?

II. Look at the following words from the news and match them (1-6) to their definitions (a-f).

	1.
	flak
	a.
	to be responsible for organizing or managing something or someone

	2.
	bilateral
	b.
	to make someone angry

	3.
	to handle
	c.
	strong criticism or opposition

	4.
	to annoy
	d.
	a very successful and powerful person or organization

	5.
	to declare
	e.
	involving two groups or countries

	6.
	giant
	f.
	to make a public or official statement about something


III. Watch/listen to the news and answer the following questions:

1. Does Apple Inc. have an office in New Zealand? 

2. What is the reason for declaring higher profit in the company’s Irish office?

IV. Now watch/listen to the news again and fill in the gaps.

More flak for _________ giant Apple with news it has not paid any tax in New Zealand for at least a decade.

In fact under a bilateral tax __________ Apple did pay 34 million NZ dollars of tax on sales for the last decade of ___________ dollars, but to the Australian office which handles New Zealand business.

What continues to annoy local ___________ is the amount of money Apple declares as profit in its Irish head office, and not just from New Zealand but operations__________   ______   ____________.

Irish corporation tax is among the lowest in the world.  
Euronews
V. Check yourself.

Can you recollect the following information from the news:
1. Three countries mentioned in the news.
2. Three collocations with the word tax.

UNIT 2
EMPLOYMENT

TASK 1

I. Before watching/listening to the news answer the following questions:
1. Can you define a term workforce? What is the difference between wage and salary?
2. What is the unemployment rate? Can you explain the difference between frictional and structural unemployment? 
3. Do you know what the functions of trade unions are?
II. Watch/listen to the news and write down the figures related to the following:
	Jobless total
	

	Increase in the number of people in work
	

	The number of self-employed people
	

	Increase in the number of self-employed 
	


III. Watch/listen to the news again and answer the questions:
1. What is a zero-hours contract?

2. Do trade unions support that kind of contract?

IV. Now look at the text of the news and fill in the gaps with the words from the box. 
	Minimum, wage growth, rights, January, incomes, oppose, Brexit

	The unemployment rate in the UK has fallen again. In the three months to the end of ___________, the jobless total was just 4.7 percent of the workforce.

The news on what people are getting paid is not so good. ______ __________ was weak even as inflation jumped, pushed up by the slump in the value of the pound after the ________vote, which hits real___________.

A breakdown of the figures shows that many people are leaving the jobless rolls because they are becoming self employed.

The number of people in work increased by 144,000 from a year earlier. The total of people declaring themselves self-employed was up by 148,000.

A record number of those – more than 900,000 – are on what are known as zero-hours contracts, which means the employer does not a give a worker a guaranteed __________ number of hours of work each week, but they must be available.

Trade unions _________ zero-hours contracts saying they undermine workers’ ________. 
V. Listen to the recording and check yourself.



VI. Look at the words in bold. Can you explain their meaning? Feel free to consult a dictionary if it is necessary.
__________________

TASK 2.
I. Before reading the news answer the following question: 

1) What is a working week? 
2) When can be a working week reduced? 
3) How does this measure characterize an economic situation in a certain country? 
4) How do you understand the word agony? 

II. Read the news quickly and choose the best option for the following statements. 

	1.
	Who has taken a drastic step?
	6.
	What is the government blaming the energy crisis on besides El Nino?

	 
	a) hydroelectric power workers
b) critics
c) dam workers
d) Venezuela's government
	 
	a) drafts
b) drifts
c) droughts
d) draughts

	2.
	Who will now be working two days a week in Venezuela?
	7.
	What is in the region of Guri?

	 
	a) Venezuela's president
b) public employees
c) everyone
d) weather forecasters
	 
	a) Venezuela's largest dam
b) the parliament building
c) a weather forecasting company
d) an energy company

	3.
	When did workers start having Fridays off in Venezuela?
	8.
	How many people are facing daily disruptions?

	 
	a) last week
b) they haven't yet
c) last year
d) two months ago
	 
	a) 13,000,000
b) 3,000,000
c) 30,000,000
d) 33,000,000

	4.
	How did Venezuela's president tell the nation?
	9.
	What are women being asked to use less?

	 
	a) in a newspaper
b) on the Internet
c) on TV
d) on radio
	 
	a) trains
b) hair dryers
c) the telephone
d) microwave ovens

	5.
	What will happen to the pay of employees working two days a week?
	10.
	What will turning the clocks back provide?

	 
	a) it will be reduced by 10 per cent
b) it will be cut in half
c) they will be paid for two days
d) they'll be paid in full
	 
	a) more sunlight
b) more time
c) more money
d) more energy


The Two-Day Workweek Is the Latest Sign of Venezuela's Agony

The government in Venezuela has taken a drastic step to try and deal with the country's growing energy problems. It has initiated a two-day working week for all state employees. President Nicolas Maduro addressed the nation in a televised statement, saying: "From tomorrow, for at least two weeks, we are going to have Wednesdays, Thursdays and Fridays as non-working days for the public sector." Employees were told they would still be paid in full, despite the greatly reduced working week. 

Water levels have dropped close to a critical low in Venezuela's main dam in the Guri region, which provides the majority of the country's electricity. While officials blamed El Niño weather patterns for the shortages, critics have accused the government of ineffective management and corruption.

The two-day workweek is the country's latest energy-saving measure. Most of its 2.8 million public workers have already had Fridays off for the past two months. Officials also introduced four-hour power cuts each day. Maduro even changed the clocks to shift half an hour of sunlight into the evening, and he asked women to reduce hairdryer use.

These restrictions compound other daily hardships for the nation's 30 million people. The oil-producing country's economy is flailing as oil prices have plummeted. Basic goods are in short supply and prices for what remains have soared.

Reuters
III. Read the text again and match the words in bold (1-10) to their definitions (a-j).

	1.
	drastic
	a.
	a wall built across a river that stops the river's flow and collects the water

	2.
	dam
	b.
	to say that someone has done something wrong or illegal

	3.
	shortage
	c.
	To move energetically in an uncontrolled way

	4.
	to accuse 
	d.
	to go down in amount or value very quickly and suddenly

	5.
	to shift
	e.
	 to rise very quickly to a high level

	6.
	to flail
	f.
	an official limit or control on what people or companies are allowed to do 

	7.
	to plummet
	g.
	a condition that causes difficulty or suffering, for example, being without a job or enough money

	8.
	to soar
	h.
	a situation in which there is less of something than people want or need

	9.
	hardship
	i.
	severe and sudden or having very noticeable effects

	10.
	restriction
	j.
	to move or change from one position o direction to another, especially slightly


IV. Over to you.

1) Think about somebody you know well. Are you aware how many days/hours per week does he or she work?
2) How many hours/days a week would you prefer to work? Why? 
UNIT 3
ADVERTISING
TASK 1
I. Before watching/listening to the news answer the following questions:

1. What is a chain store? 
2. What are the differences between supermarkets, hypermarkets, corner (convenience) stores?

3. What ways of advertising do you know? Which of them are the most effective?

4. Have you heard anything about the European Court of Justice? May any European country apply to the Court?
II. Now watch/listen to the news and mark the following statements as true or false.

1. The Court decided that big stores can’t compare their prices with the prices in small stores.

2. The Court accused Carrefour of misinforming their customers.

3. The smaller stores are not able to offer the same discounts as the bigger stores.
III. Watch/listen to the news again and fill in the gaps.

Size doesn’t matter according to the European Court of Justice in a case involving French chains Carrefour and Intermarché.

The 1)_________ ruled that in their 2)_________ retailers can compare prices from different sized stores provided they make it clear in the ads.

Intermarché had complained that Carrefour was 3)__________ consumers when it ran TV ads which said its prices were lower.

The Intermarché products listed were from its smaller supermarkets whereas Carrefour’s were from hypermarkets – which being bigger can offer larger discounts.

The court said the 4)________  ___________should ensure information about relative size is clearly shown in the ads.
Euronews

IV. Over to you.
1. Can you name any chain stores operating in your country? 
2. Do you usually go shopping to a hypermarket or a corner store? Why? 

_______________
TASK 2

I. Before watching/listening to the news answer the following questions:
1. What people are normally invited by the companies to promote their products? Can ordinary people be involved in these activities? How is this way of advertising called?
2. What do you think the idiom “to be in hot water” means? Can you give any Russian equivalent?
II. Look at the following words from the news and match them (1-6) to their definitions (a-f).

	1.
	senior
	a.
	to become involved in a difficult situation in order to improve it or prevent it from getting worse

	2.
	tie
	b.
	to prevent something or someone from doing something 

	3.
	gain (n)
	c.
	a person with higher standing or rank

	4.
	to intervene 
	d.
	to get rid of 

	5.
	to ditch
	e.
	a personal or financial connection or relationship between people, organizations, countries, etc.

	6.
	to bar
	f.
	an occasion when you get something useful or positive


III. Now watch/listen to the news and fill in the gaps with two words.

A senior White House adviser is in hot water after promoting products of President Donald Trump’s daughter Ivanka.

Federal 1)_________  ____________ bar executive branch employees from using their positions to endorse goods or for the private gain of friends.

A Congressional committee is now seeking a review into whether Kellyanne Conway crossed the 2)_______  _________ when she said this: “Go buy Ivanka’s stuff… I’m going to get some myself today. …“I’m going to give a free commercial here: Go buy it today, everybody.”

Her comments came a day after Trump attacked retailer Nordstrom for dropping Ivanka’s 3)_________  _________.

His use of a White House 4)________   _________ to intervene in a commercial matter involving his family’s business ties drew 5)_________   ____________.

Nordstrom said it ditched the brand because it was 6)__________   _____________. 
Euronews
IV. Answer the following questions:
1. Why has the personal opinion of one American lady got a Congressional committee’s special attention?
2. Did Nordstrom stop selling Ivanka’s brand due to its owner’s attitude to President Trump?
V. Over to you.

1. Do you think that officials can be involved in advertising campaigns? Why or why not?

2. What product or service would you agree to advertise?

UNIT 4
ECONOMIES OF THE EUROZONE
TASK 1

I. Before reading the news answer the following questions: 

1. Can you explain what countries the eurozone include? Is any European country can be considered as a member of the eurozone? 
2. What is a difference between recession, crisis, boom, bust and sustainable economic growth?
3. Look at the title of the news - Ireland: Before and after bailout.  Be sure that you understand correctly the meaning of the term bailout (the act of saving or rescuing something, e.g. a business, from money problems). Can you predict what information the text might contain?

II. Read the news and be ready to explain the meaning of the words in bold.

Ireland: Before and after bailout

Like cities across Europe in December, Dublin's streets are full of happy shoppers lugging their Christmas shopping home. But three years ago, it was a very different scene. Noisy protesters had gathered outside Dublin's government buildings, demonstrating against the country's bailout.

In the midst of the eurozone debt crisis, Ireland was forced to accept a 67bn euros (£57bn) lifeline from the European authorities. There was anger over the huge burden the bailout had put on Ireland's population. Now, three years on, Ireland has left the bailout programme. But few have forgotten the economic pain and particularly the bust in the property market.

During the boom, Dublin's skyline was a forest of construction cranes. Low global interest rates allowed Irish banks to go on a lending spree, with much of the money ending up in the construction sector. When the bubble burst in 2008, many companies could not pay off their loans and hundreds of property firms ended up going bust each month. Having fallen 50% from the peak, house prices are now up 10% in Dublin in the last year.

Residential construction is still fairly subdued but with Google, Facebook and Intel all expanding their operations in Ireland, there are hopes the building industry will grow in a more sustainable way.

Having had such a tough recession, many economic indicators in Ireland are bouncing back. The economy has been creating jobs, with 58,000 new positions created over the last year. The unemployment rate now stands at 12.5% (though this is still a lot higher than the UK's rate of 7.6%).

But the improvements have come at a price. Public sector wages have fallen on average by around 20% since the start of the crisis and those in the private sector have also seen their pensions and pay slashed. Part of the story behind the improved jobs numbers has been increase in migration from Ireland over the past few years. In the last year, more than 34,000 young people have left the country, with the UK and Australia the two most popular destinations.

There are some who worry that a downturn in the world economy could have a serious impact on Ireland's heavily export-dependent economy. But for the moment, many in Ireland are just coming to terms with what's become a rare commodity in past five years - good economic news.

BBC News
III. Mark the following statements as true or false according to the information from the news.

1. You can see now some protesters against the country's bailout at the streets of Dublin.
2. The Ireland’s bailout programme lasted for 3 years.

3.  The leading multinational companies abstain from expanding their operations in Ireland.
4. Many young people from Australia tried to find a job in Ireland.
5. Some Irish people are quite sceptical about the future economic development of their country.
IV. Match the items (1-8) on the left to their definitions (a-h) on the right.

	1.
	burden
	a.
	a reduction in the amount or success of something, such as a country's economic activity

	2.
	to slash
	b.
	something difficult or unpleasant that you have to deal with or worry about

	3.
	interest rate
	c.
	a period of low economic activity, 

	4.
	to pay off sth
	d.
	to reduce the number or level of something by a large amount suddenly

	5.
	downturn
	e.
	to start to be successful again after a difficult period, for example after experiencing

HYPERLINK "http://dictionary.cambridge.org/dictionary/english/failure" \o "failure" failure, loss of confidence, illness, or unhappiness

	6.
	recession
	f.
	a period of slow economic activity and lack of growth

	7.
	bust
	g.
	to give all of or the last part of an amount that you owe

	8.
	to bounce back
	h.
	the interest percent that a bank or other financial company charges you when you borrow money, or the interest percent it pays you when you keep money in an account


_______________

TASK 2

I. Listen to the news Ireland exits bailout programme and answer the following questions:

1. What are these numbers about?

	9
	

	2042
	

	6
	

	1st
	


2. What four countries are mentioned in the news?

___________                                      _______________

___________                                     ________________

II. Listen to the news again and fill in the gaps with no more than three words.

It is being called Ireland's exit from the bailout. If all goes to plan Ireland will receive no more 1)___________________. It does not mean that the money has been repaid - that will take until 2042. 
Ireland will still need to 2)_____________- and all the signs are that it will be able to do so in the financial markets at an affordable cost. The country's economy has shown signs of stabilisation. It has grown, though erratically, and 3)_______________________is down from its highs. But living standards have been hit - the economy is still 9% smaller than it was six years ago.   

This is an important stage in the Eurozone's financial repair effort. Ireland is the first country to be bailed out to get to this stage. Portugal is due to do it next year, though there are concerns that it might need 4)_______________________. 
Greece and Cyprus are further away from getting back on their feet financially. It certainly helps that the recession in the Eurozone has ended - that the economy of the region as a whole has started to grow again. But it is still feeble growth.
Europe needs stronger 5)____________ to generate the tax revenue that could really help struggling governments get control of their borrowing needs. 
III. Look through the text and find the words/word combinations which mean the following (the first letter is given):

a) normalization, reaching a state where there are no more changes or problems (s______________),
b) irregularly (e____________),

c) recovering (g____________),

d) reasonably priced (a______________),

e) weak (f____________),

f) income from business earnings or (here) taxes (r______________).
_______________

TASK 3
I. Before watching/listening to the news answer the following questions:

1. Indicate three countries which are extremely popular with tourists. How do they attract foreign visitors? 
2. What can make tourists abstain from visiting those countries? Can you support your position with some examples?

3. What do you know about Brexit? What countries are involved in that process?

II. Match the following words (1-7) to their definitions (a-g). Think of the Russian equivalents for these words.

	1.
	rebound
	a.
	(of an expense, loss, etc) legally deductible from income or wealth before tax assessment

	2.
	evidenced
	b.
	to mention something because it proves an idea, explains why something happened,

	3.
	tax-deductible
	c.
	an improvement in an economy or business

 HYPERLINK "http://dictionary.cambridge.org/dictionary/english/activity" \o "activity"  activity after a difficult period of time

	4.
	to boost
	d.
	a company's or industry's profits in a particular period

	5.
	net profit
	e.
	shown to be true

	6.
	to cite
	f.
	the money made by a company or part of a company for a particular period after all costs, taxes, etc. have been paid

	7.
	earnings
	g.
	to increase or improve something


III. Now watch/listen to the news and answer the following questions:

1. What were the reasons for decrease in tourists coming to visit France?

2. What recent development has boosted UK tourism?

3. How much bigger profit for last year did Eurotunnel report?

4. What kind of goods do Prada and Hugo Boss produce?

IV. Watch/listen to the news again and fill in the gaps with two words:

Tourists are returning to Europe with rebound evidenced by improved a)__________ ______________, tax-free shopping and air traffic.

Security fears after attacks in Paris in 2015 and in Nice last July slammed French visitor numbers, but the latest b)______________  _____________ show they rose in the final three months of last year.

Tax-deductible shopping in Europe increased 21 percent in January, up for the second straight month after a year of decline and airlines report more passengers travelling into and within Europe.
The c)_________ ___________  since Britain’s Brexit vote has boosted UK tourism. Eurotunnel recently announced a doubling of net profits for last year.

Luxury goods makers Prada, LVMH and Hugo Boss all cited higher d)__________ ___________ and more shoppers from Asia in their improved earnings.

BBC News
V. Over to you

1. You have to choose a destination for your long weekend. What country would you like to visit and why?

2. You are to entertain a foreign colleague who is planning to stay in Belarus for 3-4 days. This is his first visit to the country. He has heard a lot about Chernobyl and he is concerned about safety issues. Provide him with all necessary information and suggest some ideas for his staying in Belarus.
UNIT 5
DEVELOPING ECONOMIES

TASK 1
I. Before watching/listening to the news answer the following questions:

1. Can you complete the title of the news using one-word synonyms to the underlined words?

One Asian emerging economy starts 2017 with robust increase but the sales of goods in small quantities disappoint.
2. Can you explain the meaning of the following words (consult a good dictionary if you need)?

· Robust,

· Surging demand,

· To sustain,

· Steel,

· Output,

· Go off,

· Discourage,

· Roll-back.

II. Watch/listen to the news and say whether the following statements are true or false. 

1. The government is going to use steel only for construction of new homes.

2. The government has already spent a lot of money on infrastructure.

3. The central bank supports further lending.

III. Watch/listen to the news again and fill in the gaps with two words.
China starts 2017 with robust growth but retail sales disappoint
China’s latest 1) ________   _________ show the economy got off to a robust start this year.

There was strong 2) _________   __________, a lot of spending on infrastructure by the government and a much-needed expansion in 3) ________   ___________  as surging demand for steel for new roads, bridges and homes lifted factory output.

China’s leaders want 4)________   _______ as they try to roll back the risks from a sharp build-up in debt.

But economists are not sure how long the pace can be sustained as the 5)________   ______ is now discouraging lending and exporters are bracing for increased US protectionism.
Euronews
IV. Answer the following questions:

1. Can you explain what the word protectionism mean? 

2. Can you find two adjectives that are used together with the word growth? 

3. What countries/institutions/professionals are mentioned in the news?

_______________

TASK 2
I. Before listening to the news answer the following questions:
1. How do you understand the word inflation?
2. What units are used to measure inflation (money units, percentages, etc.)
3. What are the consequences of inflation for ordinary people?

4. Have you heard anything about Zimbabwe – its location, economic and political situation, etc.? 

II. Use a good dictionary to match the words in bold (1-10) to their synonyms (a-j).
	1.
	escalated
	a.
	handle

	2
	cope with
	b.
	wealthiest

	3.
	issued
	c.
	mayhem

	4.
	suffering
	d.
	risen

	5.
	pace
	e.
	rocketing

	6.
	richest
	f.
	hurting

	7.
	collapsed
	g.
	speed

	8.
	cha
	h.
	problems

	9.
	woes
	i.
	circulated

	10.
	spiralling
	j.
	broken down


III. Listen to the news and catch what are the following numbers about?

	500
	

	80 %
	

	1/3
	

	100
	

	1
	


IV. Listen to the news again and fill in the gaps (more than one word can be inserted).
Zimbabwe inflation at 2,200,000 per cent.
The official 1) ______________ Zimbabwe has escalated to 2.2 million percent. This is 13 times higher than 2)______________ figure, which the government released in February. Unofficial figures put the rate 3)______________ million percent, and rising. To cope with the large 4)______________, the central bank recently issued a 500-million Zimbabwe dollar bank note, which was 5)______________. People living in Zimbabwe now have to be very 6)__________________ arithmetic to do simple things like buy a loaf of bread, 7)______________ can find any bread on Zimbabwe’s empty store shelves. The cost of a loaf of bread is now 7)______________ a teacher's monthly salary. Zimbabweans are suffering with 80 per cent unemployment and salaries that cannot keep up 8)______________ of daily price rises.

Zimbabwe 9)______________ of the richest countries in Africa. It was called the ‘breadbasket’ of Africa because it grew enough food 10)______________ export to other countries. Today, the country’s farming 11)______________ people cannot find enough food in the shops. International economists 12)______________ of President Robert Mugabe, that have created 13)______________ poverty in the country. Mugabe says he has had little to do with the wrecked economy. He blames all of Zimbabwe’s economic woes on international trade sanctions. There is 14)_____________ shortage because the government cannot print bank notes fast enough to keep up with spiralling prices. People can only take out 100 million Zimbabwe dollars a day from their banks. That’s 15)______________ US dollar.
BBC News
V. Listen to the news again (optional) and answer the following questions?

	1. How different are the official figures of the inflation in Zimbabwe from real ones?

2. How was the country called in its better times?

3. How did Zimbabwe become so poor?
4. Whom does the country’s leader blame for existing problems in Zimbabwe?

5. How many loaves of bread can be bought for a teacher’s salary?
VI. Over to you.

1. What is the inflation rate in your country?

2. How could you survive on less than a dollar a day?

3. What questions would you like to ask Robert Mugabe?


UNIT 6
MONEY

TASK 1
I. Before reading the news answer the following question: 
1. Look at the title of the article. India is to become a cashless economy. Can you say what the news will be about? 
2. What is India’s official currency?
II. Read the text paying attention to the items in bold. Match the words (1-9) to their definitions (a-i).
	1.
	savvy
	a.
	to say officially that something is not allowed, or that someone is not allowed to do something

	2.
	controversial
	b.
	coins or bank notes that are part of a country's official currency

	3.
	to ban
	c.
	to manage or conduct

	4.
	legal tender
	d.
	someone with practical knowledge and ability

	5.
	circulation
	e.
	a way of paying for something

	6.
	to run one’s business
	f.
	to stop selling a product or offering a service, usually because of a problem or fault:

	7.
	mode of payment
	g.
	use of a particular type of money or payment system in the economy

	8.
	counterfeit
	h.
	causing disagreement or discussion

	9.
	to withdraw
	i.
	illegal copies of the real thing, made to deceive people


India's Prime Minister Narendra Modi has outlined his controversial plan to make India a cashless society. Indians are already up in arms following his recent and sudden decision to ban the old 500 and 1,000 rupee banknotes. They ceased to be legal tender in India from the 9th of November, although the old 500-rupee note was replaced by an updated version. The government claimed the move was an effort to stop the banknotes being used to fund terrorism, as well as being a crackdown on counterfeit money in India. The ban means 80 per cent of the country's currency has been withdrawn from circulation. It is very unpopular among most Indians.

Mr Modi went a step further on Sunday when he called for a cashless society. He said in a televised speech: "I want to tell my small merchant brothers and sisters, this is the chance for you to enter the digital world." He added: "Learn the different ways you can use your bank accounts and Internet banking. Learn how to effectively use the apps of various banks on your phones. Learn how to run your business without cash. Learn about card payments and other electronic modes of payment. A cashless economy is secure. It is clean." He addressed India's more tech-savvy people by declaring that: "All the youth of India can do it very quickly, and within a month, the world can see a modern India."

The Indian Express
III. Mark the following statements as true or false according to the text.

1) India has already given up all forms of cash.

2) There are now no 500 rupee notes in circulation in India.

3) India's government said ending banknotes was an anti-terrorism measure.

4) The withdrawn banknotes represents 80% of India's currency.

5) Mr Modi said he wanted all small merchants to enter the digital world. 
6) Mr Modi advised his brothers and sisters to stop using bank accounts.
7) Mr Modi said a cashless economy was clean and secure.

IV. Answer the following questions.

1) What kind of plan did the article say Narendra Modi outlined?

2) What phrase did the article use to say Indians are angry?

3) What Indian banknote was replaced with a newer version?
4) What percentage of India's currency was withdrawn from circulation?

5) Where did Mr Modi make a speech about the cashless society?

V. Put the words in the right order

1) plan   cashless   to   society   make   His   India   controversial   a   .

2) up   already   are   Indians   arms   in   .

3) effort   to  stop  the   banknotes  being  used  to  fund  terrorism   An   .

4) currency   country's   The   circulation   from   withdrawn   been  has  .
5) brought   been   has   Business   standstill   virtual   a   to   .

6) for   you   to   enter   the   digital   world   This   is   the   chance   .

7) your   ways   bank   you   accounts   can   The   use   different   .

8) your   run   to   how   Learn   cash   without   business   .

9) tech   more   India's   addressed   He   people   savvy   -   .

10) a   month  ,   the   world   can   see   a   modern   India   Within  .
_______________

TASK 2

I. Before reading the news answer the following question: 

1. Do you know the names of the richest people in the world? 

2. Look at the title of the article.

___________ billionaires 'as rich as world's poorest half'.
Guess the number which is missing.

II. Read the news quickly and choose the best option for the following statements. 

1) How many poor people are the billionaires as rich as?
a) 3.6 billion
b) 6.3 billion
c) 36 billion
d) 36,000,000

2) Who is the richest person in the world?
a) Mark Zuckerberg
b) the Queen of England
c) Bill Gates
d) Donald Trump

3) How much is Mark Zuckerberg worth?
a) Just less than $45 billion
b) About $45 billion
c) Over $45 billion
d) Exactly $45 billion

4) What gap is greater than had been feared?
a) mind the gap
b) the age gap
c) the Internet gap
d) the gap between rich and poor

5) What did Oxfam say the "super-rich" avoid paying?
a) tax
b) workers
c) bills
d) in kind

6) Who is Winnie Byanyima?
a) the report's writer
b) the world's richest woman
c) an economist
d) an Oxfam executive

7) How much do 1 in 10 people have each day to live on?
a) 99 cents
b) less than $2
c) just over one dollar
d) $4.5

8) What did Oxfam say is not going up?
a) the wealthy elite
b) bosses bonuses
c) the population
d) wages

9) What did an economist say Oxfam was "strangely obsessed" with?
a) poverty
b) business
c) the rich
d) economists

10) What did an economist say Oxfam should focus on?
a) complaining
b) ways to boost growth
c) its website
d) opening more stores
Eight billionaires 'as rich as world's poorest half'

The world's eight richest men have as much money as half the world. A new report from the anti-poverty charity Oxfam said eight billionaires are as rich as the 3.6 billion poorest people in the world. Six of the world's richest people are from the USA. The richest is Microsoft founder Bill Gates, who is worth $75 billion. Amazon and Facebook founders Jeff Bezos and Mark Zuckerberg both have wealth estimated to be around $45 billion. Oxfam's report is called 'An Economy for the 99 Per Cent'. Oxfam said: "It shows that the gap between rich and poor is far greater than had been feared." It added that businesses and the "super-rich" are creating greater income inequality by avoiding tax and paying low wages.

Winnie Byanyima, Executive Director of Oxfam International, said: "It is obscene for so much wealth to be held in the hands of so few when 1 in 10 people survive on less than $2 a day. Inequality is trapping hundreds of millions in poverty." She added that: "Across the world, people are being left behind. Their wages are [not going up] yet corporate bosses take home million-dollar bonuses." She said governments only care about big business and a "wealthy elite". Economist Mark Littlewood attacked the report as being unfair. He said: "As an 'anti-poverty' charity, Oxfam seems to be strangely [obsessed] with the rich." He said Oxfam should focus on ways to boost growth instead of complaining about the rich. 
BBC News
III. Read the text again and match the words in bold (1-10) to their synonyms (a-j).

	1.
	richest
	a.
	different

	2.
	report
	b.
	shocking

	3.
	worth
	c.
	Increasing

	4.
	gap
	d.
	article

	5.
	avoiding
	e.
	value

	6.
	obscene
	f.
	executives

	7.
	survive
	g.
	wealthiest

	8.
	boost
	h.
	live

	9.
	bosses
	i.
	increase

	10.
	going up
	j.
	keeping away from


V. Over to you.
1. What do you think about the Oxfam’s report?
2. Can you live for less than $60 a month (less than $2 a day)?

TAPESCRIPTS
Unit 1

Task 1

A huge telecoms merger in India. Britain’s Vodafone is joining with Idea Cellular in a deal worth the equivalent of 21 billion euros. Together they will become India’s biggest telecoms business, overtaking the market leader Bharti Airtel.

Vodafone, which is the world’s second-largest mobile phone operator, will own over 45 percent of the merged entity.

This is the latest and biggest consolidation in India after the arrival last year of a new company which sparked a brutal price war. The newcomer, Reliance Jio Infocomm, has been providing services free  for months to establish a customer base.
Task 2

Lufthansa says it expects profits to fall only slightly this year despite lower fares and its fuel bill rising. That substantially boosted the German airline’s shares as it announced operating profit was down just 3.6 percent last year.

Investors also reacted positively to the fact that it had reached a surprise deal with its pilots on pay, pensions and working practices, ending the threat of more strikes and cutting the airline’s pilot costs.

The Executive Board member in charge of Human Resources said: “We really struggled hard to find a solution and I am convinced we have found a solution that takes everyone into account. The needs of the customers, security for people to be able to plan, for our pilots, who now really do have future and career possibilities, which was particularly important. But also for us because we can now firm up our competitive position.”

Like its rivals, Lufthansa saw ticket prices come under pressure in Europe last year due to overcapacity and fierce competition from carriers with a lower cost base.

European airlines have been fighting for market share, putting more seats onto the market than there is demand for, which is likely to mean lower profits this year for many of them.

Task 3

More flak for electronics giant Apple with news it has not paid any tax in New Zealand for at least a decade.

In fact under a bilateral tax agreement Apple did pay 34 million NZ dollars of tax on sales for the last decade of 4.2 billion dollars, but to the Australian office which handles New Zealand business.

What continues to annoy local politicians is the amount of money Apple declares as profit in its Irish head office, and not just from New Zealand but operations around the world.

Irish corporation tax is among the lowest in the world.
UNIT 2

Task 1

The unemployment rate in the UK has fallen again. In the three months to the end of January, the jobless total was just 4.7 percent of the workforce.

The news on what people are getting paid is not so good. Wage growth was weak even as inflation jumped, pushed up by the slump in the value of the pound after the Brexit vote, which hits real incomes.

A breakdown of the figures shows that many people are leaving the jobless rolls because they are becoming self employed.

The number of people in work increased by 144,000 from a year earlier. The total of people declaring themselves self-employed was up by 148,000.

A record number of those – more than 900,000 – are on what are known as zero-hours contracts, which means the employer does not a give a worker a guaranteed minimum number of hours of work each week, but they must be available.

Trade unions oppose zero-hours contracts saying they undermine workers’ rights. 
UNIT 3

Task 1

The judges ruled that in their advertising retailers can compare prices from different sized stores provided they make it clear in the ads.

Intermarché had complained that Carrefour was misleading consumers when it ran TV ads which said its prices were lower.

The Intermarché products listed were from its smaller supermarkets whereas Carrefour’s were from hypermarkets – which being bigger can offer larger discounts.

The court said the French authorities should ensure information about relative size is clearly shown in the ads.

Task 2 

A senior White House adviser is in hot water after promoting products of President Donald Trump’s daughter Ivanka.

Federal ethics rules bar executive branch employees from using their positions to endorse goods or for the private gain of friends.

A Congressional committee is now seeking a review into whether Kellyanne Conway crossed the ethical line when she said this: “Go buy Ivanka’s stuff… I’m going to get some myself today. …“I’m going to give a free commercial here: Go buy it today, everybody.”

Her comments came a day after Trump attacked retailer Nordstrom for dropping Ivanka’s product lines.

His use of a White House twitter platform to intervene in a commercial matter involving his family’s business ties drew intense criticism.

Nordstrom said it ditched the brand because it was poorly performing.

UNIT 4

Task 2

It is being called Ireland's exit from the bailout. If all goes to plan Ireland will receive no more financial assistance. It does not mean that the money has been repaid - that will take until 2042.
Ireland will still need to borrow - and all the signs are that it will be able to do so in the financial markets at an affordable cost. The country's economy has shown signs of stabilisation. It has grown, though erratically, and unemployment is down from its highs. But living standards have been hit - the economy is still 9% smaller than it was six years ago. 
This is an important stage in the Eurozone's financial repair effort. Ireland is the first country to be bailed out to get to this stage. Portugal is due to do it next year, though there are concerns that it might need more financial help. 
Greece and Cyprus are further away from getting back on their feet financially. It certainly helps that the recession in the Eurozone has ended - that the economy of the region as a whole has started to grow again. But it is still feeble growth. 
Europe needs stronger performance to generate the tax revenue that could really help struggling governments get control of their borrowing needs.

Task 3

Tourists are returning to Europe with rebound evidenced by improved hotel bookings, tax-free shopping and air traffic.

Security fears after attacks in Paris in 2015 and in Nice last July slammed French visitor numbers, but the latest government statistics show they rose in the final three months of last year.

Tax-deductible shopping in Europe increased 21 percent in January, up for the second straight month after a year of decline and airlines report more passengers travelling into and within Europe.
The weaker pound since Britain’s Brexit vote has boosted UK tourism. Eurotunnel recently announced a doubling of net profits for last year.

Luxury goods makers Prada, LVMH and Hugo Boss all cited higher tourist spending and more shoppers from Asia in their improved earnings.
UNIT 5

Task 1

China’s latest official statistics show the economy got off to a robust start this year.

There was strong bank lending, a lot of spending on infrastructure by the government and a much-needed expansion in private investment as surging demand for steel for new roads, bridges and homes lifted factory output.

China’s leaders want solid growth as they try to roll back the risks from a sharp build-up in debt.

But economists are not sure how long the pace can be sustained as the central bank is now discouraging lending and exporters are bracing for increased US protectionism.

Task 2

The official inflation rate in Zimbabwe has escalated to 2.2 million percent. This is 13 times higher than the last official figure, which the government released in February. Unofficial figures put the rate as high as 15 million percent, and rising. To cope with the large numbers of zeros, the central bank recently issued a 500-million Zimbabwe dollar bank note, which was worth US$2. People living in Zimbabwe now have to be very good at mental arithmetic to do simple things like buy a loaf of bread, that is if they can find any bread on Zimbabwe’s empty store shelves. The cost of a loaf of bread is now at one-third of a teacher's monthly salary. Zimbabweans are suffering with 80 per cent unemployment and salaries that cannot keep up with the pace of daily price rises.

Zimbabwe used to be one of the richest countries in Africa. It was called the ‘breadbasket’ of Africa because it grew enough food for itself and for export to other countries. Today, the country’s farming has collapsed and people cannot find enough food in the shops. International economists blame the policies of President Robert Mugabe that have created internal chaos and poverty in the country. Mugabe says he has had little to do with the wrecked economy. He blames all of Zimbabwe’s economic woes on international trade sanctions. There is a serious cash shortage because the government cannot print bank notes fast enough to keep up with spiralling prices. People can only take out 100 million Zimbabwe dollars a day from their banks. That’s less than one US dollar.
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